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04 JI2ZtHIZ22NEE S 9,492 15,304 N5,812
SHXEAF 1A H| 9,492
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201 et 16,324 35,772 N 19,448
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01 AR 22l ] 16,324 35,772 N 19,448
EHXZAI L2 H|(EF) 16,324
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201 et 9| 11,000 14,900 A 3,900
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AN = ZAA

BE: WE 2

oo WY 2 (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 50,000 75,000 A 25,000
01 = LHA YI 50,000 75,000 A 25,000
Z X 048I (POOL) 50,000
301 LEPEXF 8,000 3,000 5,000
09 AL HIXI &3 3,000 3,000 0
TEFQUMN BHEBS AU E24(POOL) 3,000
12 JIEBHE4 = 5,000 0 5,000
2HF=QAY E0 2AH(POOL) 5,000
405 RHoHE S HI 16,000 16,000 0
01 AL EZFH S 16,000 16,000 0
HAEIH L &I (POOL) 16,000
A2 TH & 2tel 3,638,733 2,445,645 1,193,088
ol 5l bl 3,638,733 2,445,645 1,193,088
ol Bl gl 3,638,733 2,445,645 1,193,088
801 Gl HIbI 3,638,733 2,445,645 1,193,088
01 L Etaildl bl 3,635,733 2,445,645 1,190,088
& BHOIl B Bl 3,635,733
BUHERE= 3,000 0 3,000
HERES 3,000
HE2IAZH (I 2 AA) 139,106 148,622 A9,516
ol 2 gl 38,851 34,617 4,234
ol =2HHI(SAH) 38,851 34,617 4,234
101 @124 dl 38,851 34,617 4,234
02 JIEt A 2+ 38,851 34,617 4,234
SANEZ2I (NLHHFMIIE-LIIH) 38,851
2 (HEH) 26,551,000& »1H 26,551
Mz AlH| 140,000& x1H + 123 1,680
Al 2tel =G 8,798 *37 Al 2tx1H x 128 3,907
IHEE 20,0003 x2H 128 480
- A g E X 145,000 x 1 123 1,740
- =W 280,000& x1H «12& 3,360
- HOtE AMHI
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tHera sl 50,0003 x 1 128 600
Jl2Z3l 100,255 114,005 A 13,750
JlE2&l 100,255 114,005 A 13,750
201 LBH2E| 19,195 22,325 A 3,130
01 At 2t 2l 19,195 22,325 A 3,130




2N

B AR (B A)
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M2 3,400,000 x95% 3,230
SOM &4 Z24ZEH EH HEZAX 3,500
J2g =S AL 8,000 «5A! x24H « 123 11,520
SAD EXE 78,6703 x1CH+128 945
202 04l 77,280 87,360 210,080
01 = LH YI 77,280 87,360 A 10,080
A2 SF L 280,000& 23K x12& 77,280
203 R =&t 3,780 4,320 A 540
04 FN2ELRZ=TH| 3,780 4,320 A 540
FN2EYRFLH| 350,000& = 12& x90% 3,780




